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25 5,000 | 5,010 | 5,020 | 5,030 | 5,040 | 5,050
26 5.099 | 5,109 5.119 5.128 5,138 5.148
27 5,196 | 5,206 | 5,215 5.225 | 5,235 | 5,244
28 5.292 | 5,301 | 5,310 | 5,320 | 5,329 | 5,339
29 5.385 | 5,394 | 5,404 | 5,413 | 5,422 @ 5,431
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D56 @52 ®47 @41 G 34




19. v2 = 1414, v/3 = 1.732 € d, v/200 + /0.03 2]

oS oA L.

20. V8 — \/ﬁx;g\/ﬁ o] TAFH2? (V2 = 1414,
V3=1.732)
O 2.802 @ 2.510 ® 2.330
@ —3.146 ® —2.802

215 = 2236 & W, VIS - —— o] 2E 447
ofe] ulm Ao A vheate] 45 ofdl A 2
27k ohR?

@D 4.113 @ 5.271 ® 6.261
@ 7.725 ® 8.571
22v§ﬁ1m2%ﬂ,ﬁﬁ+—%éﬂ%ﬁ&%i¢@
ofe] A Ao A heato] 454 ofdl A 2
2744 Fohole,
23. V6 = 2.499, V60 = 7.746 & o, \/g o] LAtEHE

Fotofet,

0 1 2

1,010

1,418 1.421

1,735 1,738

2.002 | 2,005

2.238 | 2.241
2,452 | 2,454

2.648 | 2,650

© || o e |||~
LoVl

2,830 | 2.832

® 1.414 @ —1.732

@ —2.449 ® 2.449

@ 1.732

25. A4 n o Hale] f(n) & /i O B HEE e

H, f(D)+F3)+£(5)+---+f(19) & g

Fotofet,




